Club Accounts - Notes
Accumulated fund.
This is just a fancy accounting way of saying “what was the club worth at the start of the year”. To do this we simply add their assets on January 1st and minus their liabilities on January 1st 

There’s probably a few things that need to be explained here. First of all, don’t forget that an asset is something we own or something that is owed to us. That’s why wages prepaid (someone now owes us some work) and subscriptions due (someone owes us their memberships fees) are both assets.

Life membership is always a liability in a club because it means we have promised someone free membership to the club for the rest of their lives (i.e. we now owe them membership).

A Levy Reserve Fund is also a liability because it is essentially money that belongs to the members. A ‘Levy’ is collected from members in a club on top of their normal subscriptions (membership fees). The point of a levy is to build some savings to pay for a specific project (like new courts in a tennis club or new greens in a golf club). The fund is considered a liability because the club is obliged either to spend it on the project they collected it for, or to give it back to the members. Either way it’s not the club’s money and so is a liability

Levy Due is an ASSET. Wait! Hopefully some of you will find that weird because I spent almost an entire paragraph a few minutes ago telling you that ‘Levy Reserve Fund’ is a liability not an asset. This unfortunately is one of those slightly odd things in accounting.

Basically when a club decides to collect a levy for a specific project the rule

is:

- Any amounts we have collected from members are considered a

liability (the ‘levy reserve fund’).

- Any amounts still due from any members are considered an asset (the

‘levy due’). Once the members pay these levies we’ll then record them

as liabilities.

I know it’s odd but to be honest it’s not that hard to remember so let’s just go with it!
Income and Expenditure Account
Here’s how to work out the Bar/Shop profit or loss for a question…

Bar Trading Account 31/12/2010

€ € €

Bar Sales 



73,020

Opening Stock 

15000

Bar Purchases 

38700

Closing Stock 

-13300 

40400

Bar Profit 



32620
The rule then is that when you are working out sales (or purchases) you always need to subtract any amounts owed before the year even began (i.e at the start of the year) and add any amounts owed at the end of the year (because when anything is owed at the end of the year we can assume it is for something that happened during the year and so should be included in the accounts).

How do I know to use the Debtors figures when I’m working out sales and the Creditors figures when I’m working out purchases? Remember, that Debtors are the good guys (Debtors are Deadly, Creditors are Crap!), so Debtors are always connected to Sales (i.e. People giving us money) and Creditors are always connected to Purchases (i.e us giving other people money).

Important to remember!!

When dealing with either income or expenditure the following rules apply…

If something is…

Due on the 1/1 

Subtract it.
Prepaid on the 1/1 

Add it.

Due on the 31/12 

Add it.
Prepaid on the 31/12 
Subtract it.

And…

Opening Stock 

Add it.
Closing Stock 

Subtract it.
This shouldn’t be that hard to remember. Just learn one of them (e.g Due 1/1: Minus) and then you’ll know that something Prepaid on the 1/1 is the opposite (i.e. Add). And then you can bear in mind that the end of the year is just the reverse. Easy!
 “Subscriptions Due €500” at the start of the year – Can you remember what you’re meant to do with things Due on the 1/1?

If you’ve been paying attention you’ll know that we need to subtract this

€500.

Life Membership
The story is that ‘Life Membership’ for a club is a liability – the club have

decided to give someone membership for the rest of their lives so we essentially owe them something (i.e. their membership). Even though life

membership is something we owe, the good thing about it is that it should get smaller every year (because the people we’ve given life membership to are getting closer to death each year – so as each year passes this liability is getting less and less). 
When the question tells us to ‘Write-Off Life Membership’ therefore we should record the amount as a gain.

If it helps it’s pretty much the opposite of ‘Depreciation’. If you think about

it, ‘Depreciation’ is where we have a good thing (an Asset) that’s losing value,

so we record it as an expense. In ‘Life Membership Write-Off’ we have a bad

thing (a Liability) that’s losing value, so we record that as a gain.
For example we’re told to write off the life membership over five years (it’s

A note at the very bottom of the question). So we need to get the total

amount of life memberships and divide them by 5. The total life memberships in this question are €30,000 (€30,000 divided by 5 is obviously €6,000) This will be an income!!
